Lattice Multiplication (F)

Use lattice multiplication to find each product.

5 2 4 0 4 3 3 9
9 4
1 6
5240 x 91 = 4339 x 46 =
4 5 3 1 8 9 4 7
6 3
6 2
4531 x 66 = 89047 % 32 =
7 9 6 0 4 6 6 8
9 3
0 3
7960 x 90 = 4668 x 33 =
5 8 2 9 7 7 3 0
9 1
7 6
5829 x 97 = 7730 x 16 =
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Lattice Multiplication (F) Answers

Use lattice multiplication to find each product.

5 2 4 0 4 3 3 9
2 11 T3 10 7 LT T3 A 4
4, 5,/8, 6,/ 0 1L, 6, 2,/ 2,/ 6
0 10 /10 /10 /1, > T A5 6
15 2/ 40 o 4,/ 8, 8,/ 4
6 8 4 0 9 5 9 4
5240 x 91 = 476,840 4339 x 46 = 199,594
4 5 3 1 8§ 9 4 7
2 3 10 T0 ) 6 2 2 T T2 4
2 4l 0 8 6 o) 4, a2
2 3 1 0 ) 6 AT 0 1 A,
o 4,/ 0/ 8,/ 6 8, 6/ 8, 8,/ 4
9 0 4 6 6 3 0 4
4531 x 66 = 299,046 8947 x 32 = 286,304
7 9 6 0 4 6 6 8
6 18 /15 /10 /] 9 LT AT T2 A 5
3 14,0 1, 2 8, 8/ 4
0 /10 710 /10 /] LT AT 2 A 5
1L, o o/ 00 s, 2 88 4
6 4 0 0 40 4 4
7960 x 90 = 716,400 4668 x 33 = 154,044
5 8 2 9 77 3 0
7 A8 A 0 0 /0 /To 1,
s, s, 2 8 1 1 1 1, 3 0
3 15 1 16 7] 4 a5 10 A 6
o, s,/ 6/ 4,/ 3 2/ 2/ 2 8 0
5 4 1 3 3 6 8 0
5829 x 97 = 565,413 7730 x 16 = 123,680
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